WORK ORDER No. 38 RFQ 2022 - 13 Milling, Resurfacing, and Striping Construction Services

TO: H&J Asphalt, Inc.

DATE: April 16, 2025

4310 NW 35th Avenue Miami, FL 33142

The City of Doral authorizes the firm of H&J Asphalt, Inc. to proceed with the provision of Milling, Resurfacing, and Striping along NW 13th Terrace between 89th Court and 87th Avenue. Where H&J Asphalt, Inc. is a pre-qualified provider of Construction Services selected in accordance with RFQ 2022-13 requirements and approved by the City Council on August 9, 2022, through Resolution 22-144. The work shall be performed in accordance with the contract provisions contained in the Construction Services Agreement between H&J Asphalt, Inc. and the City of Doral dated August 9, 2022, and the attached Proposal submitted by your firm for the above-mentioned project on March 19, 2025.

SCOPE OF SERVICES AND SCEHDULE:

The scope of the project will be as described in the attached proposal from H&J Asphalt, Inc. submitted on March 19, 2025. The schedule requires the work to be performed within 30 calendar days from NTP. All limitations of time set forth in this Work Order are of the essence. The performance of services associated with this Work Order will be executed based on the schedule of values submitted by H&J Asphalt, Inc. with a not to exceed amount of \$196,602.45, which includes a 10% contingency amount for any unforeseen conditions.

You are required by the Continuing Construction Agreement to begin work subsequent to the execution of this Work Order, or as directed otherwise. If you fail to begin work subsequent to the execution of this Work Order, the City of Doral will be entitled to disqualify the Proposal and revoke the award. The Work Order incorporates the terms and conditions set forth in the Continuing Construction Agreement dated August 9, 2022, between the parties as though fully set forth herein. In the event that any terms or conditions of this Work Order conflict with the Continuing Construction Agreement, the provisions of this specific Work Order shall prevail and apply.

This Work Order is not binding until the City of Doral agrees and approves this Work Order.

IN WITNESS WHEREOF, the parties hereto have executed this Agreement on the day and date first above written, in two (2) counterparts, each of which shall, without proof or accounting for the other counterpart be deemed an original Contract.

CONTRAC	TOR: H&J Asphalt, Inc.	WITNESSES:	SEA	
BY: NAME: TITLE:	Jorge A. Lorenzo Vice President	1. 2.	alward the	-
OWNER:	City of Doral		AUTHENTICATION:	
BY: NAME: TITLE:	Zeida Sardinas City Manager	BY: NAME TITLE:	Connie Diaz City Clerk	-

APPROVED AS TO FORM AND LEGAL SUFFICIENCY FOR THE SOLE USE OF THE CITY OF DORAL:

BY:	~~
NAME:	Lorenzo Cobiella
	Gastesi, Lopez & Mestre, & Cobiella, PLLC
TITLE:	City Attorney

RESOLUTION No. 25-106

A RESOLUTION OF THE MAYOR AND THE CITY COUNCIL OF THE CITY OF DORAL, FLORIDA, APPROVING A WORK ORDER WITH H&J ASPHALT, INC. FOR THE PROVISION OF MILLING, RESURFACING, AND STRIPING CONSTRUCTION SERVICES ALONG NW 13 TERRACE BETWEEN NW 89 COURT AND NW 87 AVENUE, IN AN AMOUNT NOT TO EXCEED ONE HUNDRED NINETY SIX THOUSAND SIX HUNDRED AND TWO DOLLARS AND 45/100 (\$196,602.45), WHICH INCLUDES A 10% CONTINGENCY FOR ANY UNFORESEEN CONDITIONS; RECOGNIZING THAT H&J ASPHALT, INC. IS A CITY OF DORAL PRE-QUALIFIED VENDOR; AUTHORIZING THE CITY MANAGER TO EXECUTE THE WORK ORDER AND EXPEND BUDGETED FUNDS ON BEHALF OF THE CITY; PROVIDING FOR IMPLEMENTATION; PROVIDING FOR INCORPORATION OF RECITALS; AND PROVIDING FOR AN EFFECTIVE DATE

WHEREAS, on June 14, 2022, the existing contract for "Milling, Resurfacing and

Miscellaneous Stormwater and Roadway Improvement" (ITB-2019-12) expired; and

WHEREAS, the City of Doral's (the "City") Public Works Department ("PWD") proceeded to fragment the all-encompassing scope of work of previous contract to its new format of three (3) "scope specific" areas of construction; and

WHEREAS, on April 21, 2022, Request for Qualification (RFQ) No. 2022-13 "Milling, Resurfacing, and Striping Construction Services" was issued and advertised on the City's Website; and

WHEREAS, a recommendation was made by the committee to award the top four (4) ranked firms, H&R Paving, Inc., H&J Asphalt, Inc., Weekley Asphalt Paving, Inc., and General Asphalt, establishing a Pool of Construction Firms for "Milling, Resurfacing, and Striping Construction Services"; and

WHEREAS, this group of four (4) firms were approved by the City Council during the August 2022 Council meeting via Resolution No. 22-144; and

WHEREAS, the PWD needs to secure a firm to provide Milling, Resurfacing, and Striping along NW 13th Terrace between 89th Court and 87th Avenue; and

WHEREAS, the PWD requested a proposal from the pre-qualified pool of contractors for "Milling, Resurfacing, and Striping Construction Services"; and

WHEREAS, H&J Asphalt, Inc. provided the attached proposal and was deemed the lowest bid proposal with a not to exceed amount of One Hundred Ninety Six Thousand, Six Hundred Two Dollars and 45/100 (\$196,602.45) which includes a 10% contingency for any unforeseen circumstances; and

WHEREAS, the City Manager's Office respectfully requests that the Mayor and the City Councilmembers approve Work Order No. 38 for H&J Asphalt, Inc. a copy of which is attached hereto as Exhibit "A", for the provision of Milling, Resurfacing, and Striping along NW 13th Terrace between 89th Court and 87th Avenue in an amount not to exceed One Hundred Ninety Six Thousand, Six Hundred Two Dollars and 45/100 (\$196,602.45); and

WHEREAS, funding for this request is available in the Public Works Transportation Fund, Account Num. 101.80005.500633 and the People's Transportation Fund: CITT" – Account Num. 106.80005.500633, two separate purchase orders will be provided and funded at the time of construction.

NOW, THEREFORE, BE IT RESOLVED BY THE MAYOR AND THE CITY COUNCIL OF THE CITY OF DORAL AS FOLLOWS: **Section 1. Recitals.** The above recitals are confirmed, adopted, and incorporated herein and made part hereof by this reference.

Section 2. Approval. Work Order No. 38 to H&J Asphalt, Inc. for Milling, Resurfacing, and Striping along NW 13th Terrace between 89th Court and 87th Avenue, for a not to exceed amount of One Hundred Ninety Six Thousand, Six Hundred and Two Dollars and 45/100 (\$196,602.45), which includes a 10% contingency for any unforeseen circumstances, a copy of which is attached hereto as Exhibit "A", together with such nonmaterial changes as may be acceptable to the City Manager and approved as to form and legality by the City Attorney, is hereby approved.

Section 3. Authorization. The City Manager is authorized to execute the work order, all purchase orders, and any additional document(s) that may be necessary in order to effectuate this Resolution, and to expend budgeted funds on behalf of the City.

Section 4. Implementation. The City Manager and the City Attorney are hereby authorized to take such further action as may be necessary to implement the purpose and the provisions of this Resolution.

Section 5. Effective Date. This Resolution shall take effect immediately upon adoption.

The foregoing Resolution was offered by Councilmember Pineyro who moved its adoption.

The motion was seconded by Councilmember Reinoso and upon being put to a vote, the

vote was as follows:

Mayor Christi Fraga Vice Mayor Maureen Porras Councilwoman Digna Cabral Councilman Rafael Pineyro Councilwoman Nicole Reinoso

PASSED AND ADOPTED this 16 day of April, 2025.

Yes

Yes

Yes

Yes

Yes

CHRISTI FRAGĂ, MAYOR

ATTEST

CONNIE DIAZ, MI CITY CLERK

APPROVED AS TO FORM AND LEGAL SUFFICIENCY FOR THE USE AND RELIANCE OF THE CITY OF DORAL ONLY:

LORENZO COBIELLA / GASTESI, LOPEZ, MESTRE & COBIELLA, PLLC CITY ATTORNEY

EXHIBIT "A"

WORK ORDER No. 38 RFQ 2022 - 13 Milling, Resurfacing, and Striping Construction Services

TO: H&J Asphalt, Inc.

DATE: April 9, 2025

4310 NW 35th Avenue Miami, FL 33142

The City of Doral authorizes the firm of H&J Asphalt, Inc. to proceed with the provision of Milling, Resurfacing, and Striping along NW 13th Terrace between 89th Court and 87th Avenue. Where H&J Asphalt, Inc. is a pre-qualified provider of Construction Services selected in accordance with RFQ 2022-13 requirements and approved by the City Council on August 9, 2022, through Resolution 22-144. The work shall be performed in accordance with the contract provisions contained in the Construction Services Agreement between H&J Asphalt, Inc. and the City of Doral dated August 9, 2022, and the attached Proposal submitted by your firm for the above-mentioned project on March 19, 2025.

SCOPE OF SERVICES AND SCEHDULE:

The scope of the project will be as described in the attached proposal from H&J Asphalt, Inc. submitted on March 19, 2025. The schedule requires the work to be performed within 30 calendar days from NTP. All limitations of time set forth in this Work Order are of the essence. The performance of services associated with this Work Order will be executed based on the schedule of values submitted by H&J Asphalt, Inc. with a not to exceed amount of \$196,602.45, which includes a 10% contingency amount for any unforeseen conditions.

You are required by the Continuing Construction Agreement to begin work subsequent to the execution of this Work Order, or as directed otherwise. If you fail to begin work subsequent to the execution of this Work Order, the City of Doral will be entitled to disqualify the Proposal and revoke the award. The Work Order incorporates the terms and conditions set forth in the Continuing Construction Agreement dated August 9, 2022, between the parties as though fully set forth herein. In the event that any terms or conditions of this Work Order conflict with the Continuing Construction Agreement, the provisions of this specific Work Order shall prevail and apply.

This Work Order is not binding until the City of Doral agrees and approves this Work Order.

IN WITNESS WHEREOF, the parties hereto have executed this Agreement on the day and date first above written, in two (2) counterparts, each of which shall, without proof or accounting for the other counterpart be deemed an original Contract.

CONTRACT	ГОR: H&J Asphalt, Inc.		WITNESSES:	SEAL:	
BY: NAME: TITLE:		1. 2.		-	
OWNER:	City of Doral		AUTHENTICATION:		
BY: NAME: TITLE:	Zeida Sardinas City Manager	BY: NAME TITLE:	Connie Diaz City Clerk	_	

APPROVED AS TO FORM AND LEGAL SUFFICIENCY FOR THE SOLE USE OF THE CITY OF DORAL:

BY: NAME: Lorenzo Cobiella Gastesi, Lopez & Mestre, & Cobiella, PLLC TITLE: City Attorney

Docusign Envelope ID: 85FDC687-5D40-4676-BAAD-6677D9E85413

PROJECT: RFQ No. 2022-13 Milling, Resurfacing, and Striping Construction Services

H & J ASPHALT, INC Bid Sheet

RFQ No. 2022-13 Milling, Resurfacing, and Striping Construction Services

LOCATION:	W0#38 - NW 13th Terrace between NW 89th and 87th Avenue														
Contract Amo	unt:	\$196,602.45													
10% Contingency: \$17,872.95															
Total \$196,602.45															
RFQ No. 2	022-13 Milling, Resurfacing	g, and Striping Construction Servic	es								Inv	voice 1	In	voice	2
ltem No.	Description		Estimated Quantity	Unit		Unit Price	Sch	neduled Value	Completed %	Total Qty.	QTY	Total	QTY		Total
	Mobilization	- Maintenance of Traffic	Quantity												_
101-1	Mobilization-Demobilization (Inclu		1	LS	Ś	10,000.00	Ś	10,000.00	0.00%	0.00		\$ -		5	
101 1		affic control, pedestrian and vehicles access,	-		Ť	10,000.00	Ý	10,000.00	0.0070	0.00				Ť	
102-1		er FDOT Standards, lighting, and steel plates if	1	LS	s	12.000.00	\$	12.000.00	0.00%	0.00		s -		s	
102 1	required)		-		ľ	12,000.00	ľ	12,000.00				1		1	
		Resurfacing - Structural			-							-			
104-18	Inlet Protection System	countering structurer	13	EA	\$	200.00	\$	2,600.00	0.00%	0.00		Ś -		Ś	
327-70-1	Milling of existing Asphalt Pavemen	nt 1" Avg depth	5,987	SY	\$	4.00	\$	23,948.00	0.00%	0.00		\$ -		Ś	
337-7-82	Asphalt Concrete Friction Course, 1		380	TN	\$	165.00	\$	62,700.00	0.00%	0.00		\$ -		Ś	
425-5	Manhole, Adjust	Tunic c, r c 5.5, r c 70 22	6	EA	Ś	1.100.00	Ś	6.600.00	0.00%	0.00		\$ -			
425-5	Valve Boxes, Adjust		6	EA	\$	900.00	Ś	.,				\$ -			
423-0		tail on Chest 2.9. Dian view on Chest 4.9.5	0	EA	Ş	900.00	\$	5,400.00	0.00%	0.00	-			\$	-
110-1-1	Clearing and Grubbing	tail on Sheet 3 & Plan view on Sheet 4 & 5	0.01	AC	\$	150,000.00	\$	1,500.00	0.00%	0.00		Ś -		\$	_
120-1-1	Regular Excavation		3.7	CY	s s	400.00	\$	1,480.00	0.00%	0.00		\$ - \$ -		\$	
285-704	Optional Base, Base Group 04 (6")		3.7	SY	s s	250.00	\$	4,750.00	0.00%	0.00		\$ -		\$	-
	Removal of Existing Concrete		4	SY	\$	125.00	\$	4,730.00	0.00%	0.00		\$ -		\$	-
110-4-10	Concrete Sidewalk and Driveways,	C" Thick	4	SY	\$	125.00	ŝ	500.00	0.00%	0.00		\$ - \$ -		\$	-
522-2	Concrete Curb, Type D	6 THICK	4 99	LF	ŝ	125.00	ş S	9,900.00	0.00%	0.00		\$ - \$ -			-
520-2-4 570-1-2	Performance Turf, Sod		22	SY	\$	20.00	ş Ş	9,900.00	0.00%	0.00		\$ - \$ -		\$	-
570-1-2		ignalization	22	51	- P	20.00	Ş	440.00	0.00%	0.00				>	-
635-2-11	Pull & Splice Box, F&I, 13" X 24" Co	0	1	EA	\$	2,000.00	\$	2.000.00	0.00%	0.00		Ś -		Ś	
660-21-06	Loop Assembly, F&I, Type - "F"	VEI 5126	4	AS	Ś	2,500.00	Ś	10,000.00	0.00%	0.00		\$ -			
000-21-00	coop resembly, r di, rype r	Striping	4	~ ~	1º	2,500.00	2	10,000.00	0.00%	0.00					
706-1-3	Raised Pavement Marker, Type B		292	EA	Ś	7.00	\$	2.044.00	0.00%	0.00		Ś -		Ś	
710-111-1	Painted Pavement Marking, Standa	rd. White. Solid. 6"	0.085	GM	Ś	5,000.00	Ś	425.00	0.00%	0.00		\$ -		Ś	
		ird, White, Solid for Stop Line or Crosswalk,			1 ·		Ť							- Ť	
710-111-25	24"	., .,,,	100	LF	\$	2.00	\$	200.00	0.00%	0.00		\$ -		\$	-
710-111-60	Painted Pavement Marking, Standa	rd, White, Message or Symbol	3	EA	\$	350.00	\$	1,050.00	0.00%	0.00		\$ -		\$	-
710-111-70	Painted Pavement Marking, Standa	rd, White, Arrows	8	EA	\$	350.00	\$	2,800.00	0.00%	0.00		\$ -		\$	-
710-112-1	Painted Pavement Marking, Standa	ard, Yellow, Solid, 6"	0.702	GM	\$	5,000.00	\$	3,510.00	0.00%	0.00		\$ -		\$	-
710-112-24	Painted Pavement Marking, Standa	ard, Yellow, Solid for Diagonal or Chevron, 18"	492	LF	\$	3.00	ś	1,476.00	0.00%	0.00		\$ -			
710-112-31	Painted Pavement Marking, Standa	ard Vellow Skip 6"	0.102	GM	\$	6,000.00	\$	612.00	0.00%	0.00		Ś -		\$	
711-111-25	Thermoplastic, White, Solid for Sto		100	LF	\$	3.00	\$	300.00	0.00%	0.00		\$ -		Ś	
711-111-60	Thermoplastic, Standard, White, M		3	EA	\$	450.00	\$	1.350.00	0.00%	0.00		\$ -		\$	
711-111-70	Thermoplastic, Standard, White, A		8	EA	Ś	450.00	\$	3.600.00	0.00%	0.00		\$ -		Ś	
711-112-24	Thermoplastic, Standard, Yellow, S		492	LF	Ś	4.00	Ś	1.968.00	0.00%	0.00		\$ -		Ś	
711-161-1	Thermoplastic, Standard, Other Su		0.085	GM	\$	6,500.00	\$	552.50	0.00%	0.00		\$ -		\$	
711-162-2	Thermoplastic, Standard, Other Su	rfaces, Yellow, Solid, 6"	0.702	GM	\$	5,500.00	\$	3,861.00	0.00%	0.00		\$ -		\$	-
711-162.31	Thermoplastic, Other Surfaces, Yell	low, Skip, 6"	0.102	GM		6,500.00	\$	663.00	0.00%	0.00		\$ -		\$	-
Sub-Total							\$	178,729.50	0.00%			\$ -		\$	-
Contingencies	Withdraws														
No.	Description		Estimated Quantity	Unit		Unit Price	Sch	neduled Value	Completed %	Total Qty.		Total			Total
1	10% Contigency		1.00	LS			\$	17,872.95	0.00%	0.00		\$ -		\$	
Sub-Total								\$17,872.95	0.00%			\$ -		\$	-
Grand Total							\$	196,602.45				\$ -		\$	-
Invoiced												\$-		\$	
Invoiced to Da	nte	\$0.00													